2.40 Operations with Radicals.notebook May 04, 2021

Solutions

2. Simplifi.
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3. Simplify.
a) 4V5+3V5

d 3V3+8V2 - 4V3+11V2

b) 9V7 — 4V d V8
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5. Simplif_\‘.
a) V3(2-1V5) d (-2V3)3
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b) 2V2(V7 + 3V3) e 4V3 x3Ve6
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6. Simplii:\_'.

a) V8- V32

b) V12 + VI8 — V27 + V50
o 3V98 —5V72
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d) 4V 200 + 5V 242
e) —5V45 + V52 + 3V125
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f) 7VI12 — 3V28 + 7\-“’18 i ;\-’63
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7. Simplify.
By - V503 +2V0)
b) (2 + 3V3)?

o (V2+V5)(V2-V5)

d (3V3+4V2)(V3 - 2V2)
o (2V5-3V7)’

) (1 -V3)(2+ Ve)5+ V2)
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Attachments

Q Simplifying Radicals Video 1.swf
Q  Simplifying Radicals video.swf
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